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1. AB AB 
B A \ B A B \ A

2. n[p(A)] = 64 n(A) 
6 8 4 5

3. A, B C A(BC) 
(AB)(BC)  (AB)(AC) A(BC)  (AB)(BC)

4. A, B C B\(AC) 
 (A\B)(A\C)  (B\A)(B\C)  (B\A)(A\C)  (A\B)(B\C)

5. A = {p, q, r, s}, B = {r, s, t, u}A\B 
{p, q} {t,u} {r, s} {p, q, r, s}

6. n(A) = 20, n(B) = 30 n(AB) = 40  n(AB) =
50 10 40 70

7. {(x, 2), (4, y)} (x, y) =
(2, 4) (4, 2) (2, 2) (4, 4)

8. {(7, 11), (5, a) } a
7 11 5 9

9. f: A  B n(A) = 5 n(B) =
10 4 5 25

10. 

 
 

11. f(x) = x2 +5 f (-4) =
26 21 20 -20

12. 

   
13. f = {(6, 3), (8, 9), (5, 3), (-1, 6)} 

   

14. AB AB = A 
B A AB AB AB=

15. PQ PQ
{x : xP xQ} {x : xP xQ}
{x : xP xQ} {x : xP xQ}

16. A B {(A\B)(B\A)}(AB) =
 AB AB AB

17. 

A\B = AB A\B = AB A\B = (AB)B A\B = (AB)\B
18. f(x) = (-1)x N-Z-f-

{1} N  {1, -1} Z
19. A={1,3,4,7,11}, B= {-1, 1, 2, 5, 7, 9}f = {(1, -1), (3, 2), (4, 1), (7, 5), (11, 9)} f: A  B-

   
20. A={5, 6, 7}, B= {1, 2, 3, 4, 5} f (x)= x - 2 f: A  B-

{1, 4, 5} {1, 2, 3, 4, 5} {2, 3, 4} {3, 4, 5}




 



21. 1, 1, 2, 3, 5, 8, ...... 
   

22. a, b, c, l, m  a- 4b + 6c - 4l + m =
   

23. k+2, 4k - 6, 3k -2 k-
   

24. a, b, c 

a
b

b
c

a - b
b - c

a
c

1
22

1
30

1
18

1
24   

25.      ,      ,       , 1
2

1
6

1
12

1
20

1
20

26. 100n + 10  n

 

27. 
   

30. am-n, am, am+n 
am a-m  an a-n

31a1, a2, a3, . . . .  
 a1 a1 

321 + 2 + 3 + .... + n = k 13 + 23 + 33 + .... + n3 
k 2 k 3 (k+1) 3 

33x, 2x+2, 3x+35x, 10x+10, 15x+15 
  A.PG.P

34a, b, c, l, m, n3a+7,  3b+7,  3c+7,  3l+7, 3m+7,  3n+7 

   A.PG.P

35x  0 1 + sec x+ sec2 x +sec3 x+sec4 x +sec5 x 
(1+secx)(sec2x+sec3x+sec4x)  (1+secx)(1+sec2x+sec4x) (1-secx)(secx+sec3x+sec5x)(1+secx)(1+sec3x+sec4x)

36


8 16  
37a1, a2, a3, . . . . a5, a10, a15, . . . . 

   A.PG.P

38tn = 3 - 5n n n


39-3, -3, -3, . . . . 
 

 

3
2

a4
a7

3
2

k(k+1)
2

1
16

1
32

40.

N

 



  n[1-5n]  [1-5n]n
2 [1+5n]n

2 [1+n]n
2

29. a, b, c  
   

a - b
b - ca

b
b
a

a
c

c
b

28. t2 =t3 3
5

1
5

 1   5  1
5

1
3

   






 
x3 - 5x2 + 7x - 4 x - 1 

x2 + 4x + 3 x2 - 4x + 3 x2 - 4x - 3 x2 + 4x - 3
x3 - a3 (x - a)2  

(x3 - a3) ( x + a) (x3 - a3) ( x - a)2 ( x-a)2( x2+ax+a2) ( x+a)2( x2+ax+a2)
x2 - 2xy + y2 x4 - y4 

1 x + y x - y x2 - y2

49(x2 - 2xy + y2)2
7 x - y 7 (x + y)(x - y)  7 (x + y)2 7 (x - y)2

6x - 2y = 3, kx - y = 2 
k = 3 k   3 k = 4 k  4

x - 4y = 8, 3x - 12y = 24 
 
 

x2 - 2x + 7 x + 4 
   



x
p(x) = (k+4)x2 + 13x +3k k 

   
(x3 + 1) x4 - 1

x3 - 1 x3 + 1 x + 1 x - 1
kN ak, ak+3, ak+5

ak+9 ak ak+6 ak+5

f(x) = 2x2 + (p +3)x +5 p
   

x2 + y2 + z2 - 2xy + 2yz - 2zx-
x + y - z x - y + z  x + y + z x - y - z

a3 - b3

a3 + b3
a + b
a - b

   a2+ab +b2

a2- ab +b2
a2-ab -b2

a2+ ab +b2
a2- ab +b2

a2+ab +b2
a2+ab +b2

a2- ab -b2

121x4y8z6(l - m)2-
11x2y4z4l - m 11x4y4z3(l - m) 11x2y4z6l - m 11x2y4z3(l - m)


x2 - 6x - 5 = 0 x2 + 6x - 5 = 0 x2 - 5x - 6 = 0 x2 - 5x + 6 = 0

b = a +c ax2 + bx + c = 0

a = c a = - c a = 2c a = - 2c
ax2 + bx + c = 0  



ax2 + bx + c = 0 bx2 + ax + c = 0 cx2 + bx + a = 0 cx2 + ax + b = 0

1


1


x2 + 5x + 6
x2 - x - 6

   x - 3
x + 3

x + 3
x - 3

x + 2
x - 3

x - 3
x + 2

 x2 + 5kx + 16 = 0

k > k > - -       < k < 0 < k <8
5

8
5

8
5

8
5

8
5



x2 - bx + c = 0 x2 + bx - a = 0 

   

ax2 + bx + c = 0 c-

   

c+a
2b

c-a
2b

c+b
2a

a+b
2c

b2

2a
b2

4a
b2

2a
b2

4a

(x - 5) ( x - 3) (x - 5) ( x + 3) (x + 5) ( x - 3) (x + 5) ( x + 3)


x2 - 25
x + 3

x + 5
x2 - 9


   

A= [aij]m x n 
 m < n m > n m  1 m  n

A-B-BA-
   

A B AB = I BA = I B 
  A A

A B
(AB)T=ATBT (ATB)T= ATBT (AB)T=BA (AB)T= BTAT

Am x nBp x qA B
m  p n  q n  p m  p, n  q

A[aij]2 x 2aij  i + jA

   

A           ( 1   2 ) A

   

                   x y

   


 
 

a3

a - b
b3

b - a
a2 + ab + b2 a2 - ab + b2 a3 + b3 a3 - b3

a  0, ax2 + bx + c = 0- 

  Ö.  b
a

c
a

1


b
c

1


b2 -2ac
a2

        4            x     ¼

          a, b, c d

-1, 0, 0, -1 1, 0, 0, 1 -1,  0, 1, 0 1, 0, 0, 0

           x y 

-2, 7 2, -7 -- -71
3

2
3

1
3

( 5  x 1)        ( 20 )x    

A =A2 = I 

1++ 1- + 1-- 1+-

1
7
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
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dc
ba
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10
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


 
3x +6y + 7 = 0 2x +ky = 5 k-

1 -1 2 ½
y = 0 x  = - 4 

(0, -4) (- 4, 0) (0, 4) (4, 0)
4x + 3y - 12 0 y-

(3, 0) (0, 4) (0, - 4) (3, 4)
(-2, -5), (-2, 12), (10, -1) 

(6, 6) (4, 4) (3, 3) (2, 2)
(1, 1,), (0, 1), (0, 0), (1, 0) 

3  2  4  1 
x

0 90 45 60
(0, 0), (2, 0), (0, 2) 

1  2  4   
2x - 3y + 6 = 0 x, y-

2, 3 3, 2 -3, 2 3, -2
(-6, 4)(-12, 8) 

(-18, 12) (-9, 6) (-3, 2) (0, 0)
y-

3x - y - 4 = 0 3x + y - 4 = 0 3x - y + 4 = 0 3x + y + 4 = 0
y  = 2x + k (1, 2) k-

0 4 5 -3
(2, 5), (4, 6), (a, a) a-

-8 4 - 4 8
y-

x - 2 = 0 x + 2  = 0 y + 5 = 0  y - 5 = 0
(1, 2), (4, 6), (x, 6), (3, 2) x-

6 2   3
A(3, 4), B(14, -3) x PP

4 : 3 3 : 4 2 : 3  4 : 1
(2, -7) x-

x = 2 x = -7 y = - 7  y = 2
9x - y - 2 = 0, 2x + y - 9 = 0 

(-1, 7) (7, 1) (1, 7)  (-1, -7)
2x +3y - 7 = 0 

2x +3y  = 0 3x - 2y  = 0 y + 5 = 0  y - 5 = 0
(a, -b) (3a, 5b) 

(-a, 2b) (2a, 4b) (2a, 2b)  (-a, -3b)
A(1, -3), B(-3, 9) P

(2, 1) (0, 0) (     , 2)  (1, -2)
(3, -2), (-1, a) a

1 2 3  4
(-2, 6), (4, 8) 

3 -3  
7y - 2x  = 11 

   
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OPA, PB P
40POA =

70 80 50 60

AB CD PAB = 16 PD = 8 
PC = 6 AP > PB  AP =

8  4  12  6 

PA, PBP-

CD Q PA = 8 CQ = 3 PC =
11  5  24  38 

P OP
     PT OT =

36  20  18  24 

PQRRS R
 PQ = 6 QR = 8 RP = 4 PS  =

2  4  3  6 

x-
   

ABC DEFB = E C = F 

   AB
DE

CA
EF

BC
EF

AB
FD

AB
DE

BC
EF

CA
FD

AB
EF




   



   

ABC DEF 
BC = EF =

   

AB, CD PAB = 5 
AP = 8 CD = 2 PD =

   


   

ABC DEF 

DE AB =
   

30 50 80 40

ABCB = 90BD   AC.  BD = 8 AD = 4 CD =
   

       , B = 40C = 60BAD =AB
AC

BD
DC

ABCAB AC D E

BC

ABCAB ACD EDE   BC

    AD = 3 DB = 2 AE = 2.7 AC =
6.5  4.5  3.5  5.5 

AD
AB

DE
BC

AD
EC

=
   

AE
AC

AD
DB






 
1. 9tan2 - 9sec2

1 0 9 - 9
2. (cos2- 1) (cot2+ 1) + 1 

1 - 1 2 0
3. (1- sin2) sec2

0 1 tan2 cos2
4. sin (90-) cos + cos (90-) sin

1 0 2 - 1
5. cos4x - sin4x

2sin2x - 1 2cos2x - 1 1 + 2sin2x 1 - 2cos2x
6. (1 + tan2) (1 - sin) (1+sin) =

cos2 - sin2 sin2 - cos2 sin2 + cos2 0
a
x7. tan =        

cos sin cosec sec
8. (1 + tan2) sin2 =

sin2 cos2 tan2 cot2
9. (1 - cos2) (1 + cot2) =

sin2 0 1 tan2
10. (1 + cot2) (1 - cos) (1 + cos) =

tan2 - sec2 sin2 - cos2 sec2 - tan2 cos2 - sin2

11. sin = BC =
85  65  95  75 

12. sin (90-) sin      cos (90-) cos
        tancot+ =

tan 1 -1 sin
13. x = asec, y = btan  =x 2

a2

1 tan2 -1 cosec2

y2

b2

14. AC =
25  25                25      

151 -                 =sin2
1 + cos
cos tan cot  cosec

- cot tan sin - cot
17ABC 

45 30 60 50
1845


   

20 sin2+1
1 + tan2

cosec2+ cot2 cosec2 - cot2 cot2 - cosec2 sin2  - cos2

191 + tan2
1 + cot2
cos2 tan2 sin2 cot2

16sec
cot + tan

17
15

3 25

3
2

22 xa
x




.   


   


   
a b 

 a2b  ab     


   

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
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

   


   


   
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 a2  a2     a2 
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


 


   


   


   


   


   


   
 

   
n  xx 

x x n x 
 x

   


   


   
 x x x n 

   
x, y, z- t x  y z -

t t + 5  xyz 


   
n x) x

 n x  (n - 1) x (n - 2) x

t
3



ADB  ABC ABD  ABC BDC  ABC ADB  BDC



   

PAB = 120BPT =
120 30 40 60



   


1
8

   1
4

3
8

1
2


1
36   1

3
1
6

2
3


1
7

2
7

3
7

   

22

12 24 26 29

10



P(1  0 1
4

A B P(A) = 0.25, P(B) = 0.05 P(AB) = 0.14 P(AB) =
   

4
5

   

A p p 
 0 < p < 1 0  p  1 0  p < 1 0 < p  1

1
5

2
5

3
5

4
5

S P(S) =
 0 1  

1
8

1
2


1
52

16
52

1
13

1
26

   







2
7

1
7

3
7

    4
7

7
10

3
10

2
3   

A B S P( A B ) =

P(B) - P( A B ) P(A B) - P(B) P(S) P[(AB)]




2
13

11
13

4
13

    8
13


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P(A) = 0.25, P(B) = 0.50 P(AB) = 0.14 P(AB) =

   

A B S,

      P(A) =      P(B) S = AB P(A) =1
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AB C 

                    P(ABC) =5
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A = A + B = O  B=   

A = (1  -2  3) B =            A+B = (0  0  0) ( -14 )  

A =         A+B =                      B=    
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